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Here is a semi-circle.

Measure accurately the length of the straight edge.

Give your answer in centimetres.
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[1 mark]

1
1

[2012]

Measure angle x accurately.

Use a protractor (angle measurer).

cm

º

x 

[1 mark]

2
2

[2004]
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6

On the grid join dots to make a triangle which 
does not have a right angle.

Use a ruler.

4

Use a ruler to draw one line of symmetry on each of
these designs.

You may use a mirror or tracing paper.

5

5

2 marks

4

1 mark

[1 mark]

3
3

[2002]

16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[1 mark]

4
4

[2004]



6

Use each number card once to make the answer to each
calculation an even number. 

5 {

12 }

9 +

543

5

!5ii

2 marks

!5i

Measure accurately the length of the diagonal of
this square.

Give your answer in centimetres.

cm

4

!4

1 mark

[1 mark]

5
5

[2004]
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15  Join dots on the grid to make a quadrilateral that has 3 acute angles.  

 
 

1 mark

 1 mark

M003578_sharpist  –  9 June 2015 3:43 PM – Version 4

KS2 item template version 1.1

6G3a

  Lara chooses a number less than 100 
 
She divides it by 3 and then subtracts 11 
 
She then divides this result by 2 
 
Her answer is 10.5

What was the number she started with?

Show 
your 

method  

2 marks

 

16

2 marks

M005187_crofter bigger  –  9 June 2015 3:45 PM – Version 1

KS2 item template version 1.1

6C8

S00070A1624

[1 mark]

6
6

[2016S]



Total

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?

Draw two more straight lines to make a rectangle.

Use a ruler.

7

6

1 mark

7

1 mark

6

5

[1 mark]

7
7

[2001]
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 Here is a triangle.

Measure the shortest side accurately, in centimetres.

 
cm

 

Measure the largest angle.

 
˚

 

1 mark

 

 

1 mark

 

9

1 mark

1 mark

M003268_laidback  –  22 April 2015 3:57 PM – Version 4

KS2 item template version 1.1

5G4c 3M2

S00060A1124

[2 marks]

8
8

[2016S]



12

12 Here is a regular hexagon.

Use a ruler.

Here is a regular octagon.

Use a ruler.

Join three of the dots to make an isosceles triangle.

Join three of the dots to make an equilateral triangle.

12a

1 mark

12b

1 mark

[2 marks]

9
9

[2004]



08 1

Here are four lines: A, B, C and D.

 
A 

B

C

D 
 
 
 
 
   

               and

Use a ruler.

6

M0840  ssM           S4b L3  

Draw a straight line that is 3 centimetres longer than line B.

6b

1 mark

Which two lines have a total length of 18cm?

6a

1 mark

(C)

M0840_2  –  5 December 2012 2:08 PM – Version 2

[2 marks]

10
10

[2013]



15 Total out of 4

17 Look at this star.

Give your answer in millimetres.

°

Use a protractor (angle measurer) to measure angle b.

mm

Use a ruler to measure accurately the width of the star,
from P to Q.

P Q

17a

1 mark

17b

1 mark

[2 marks]

11
11

[2005]



Total

Calculate 1025 – 336

17

16

1 mark

16

mm 17a

1 mark

Measure accurately the longest side of this shape.

Give your answer in millimetres.

Measure accurately the smallest angle in the shape.

Use a protractor (angle measurer).

17b

1 mark

O

11

[2 marks]

12
12

[2001]
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Here is a grid of dots.

Point A and point B are joined by a straight line.

Draw a line to join point A to another dot on the grid 
so that the two lines make a right angle.

Use a ruler.

B

A

 

19

19

1 mark

[1 mark]

13
13

[2010]



 13 Total out of 4

Calculate 3
4
 of £15

£ 14

1 mark

14

Here is a triangle drawn on a square grid.

Draw a rectangle on the grid with the same area as the triangle.

Use a ruler.

15

1 mark

15

[1 mark]

14
14

[2006]

Total out of 411

Draw two straight lines from point A to divide the 
shaded shape into a square and two triangles.

10

The temperature inside an aeroplane is 20°C.

The temperature outside the aeroplane is –30°C.

What is the difference between these temperatures?

degrees

11

10

1 mark

11

1 mark

[1 mark]

15
15

[2003]



Total

Nadia is working with whole numbers.

She says,

‘If you add a two-digit number to a two-digit number
you cannot get a four-digit number’.

Is she correct? Circle Yes or No.

Explain why.

Yes / No

12

12

1 mark

On the grid, draw a rectangle which has the same area as
this shaded pentagon.

Use a ruler.

11

11

1 mark

8

[1 mark]

16
16

[2000]

The twelve points on this circle are equally spaced.

Join four points to make a square.

Use a ruler.

13

1 mark

13

Here is part of a number line.

Write the missing numbers in the boxes.

0

20

12a

1 mark

12b

1 mark

12

 13 Total out of 6

289983_KS2Ma_2009_081212_v0.0_Be13 13289983_KS2Ma_2009_081212_v0.0_Be13   13 09/12/2008 16:29:5809/12/2008   16:29:58

[1 mark]

17
17

[2009]



Here is a square grid.

Two sides of a kite are drawn on the grid.

Complete the kite by drawing the two missing sides.

Use a ruler.

cm

cm

 22

Here is a square grid.

Two sides of a kite are drawn on the grid.

Complete the kite by drawing the two missing sides.

Use a ruler.

    

23

1 mark

23

2M008_V01_KS2MathsTestB_05012011.indd   22 23/12/2010   16:05

[1 mark]

18
18

[2011]

Total

Calculate 15% of 460

25

25

1 mark

24

This is a centimetre grid.

Draw 3 more lines to make a parallelogram
with an area of 10cm2

Use a ruler.

24

1 mark

17

[2 marks]

19
19

[2001]
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Here is a sketch of a triangle.

It is not drawn to scale.

7cm

72°

10cm

Draw the full-size triangle accurately below.

Use a protractor (angle measurer) and a ruler.

One line has been drawn for you.

10cm

21i

21ii

2 marks

21

[2 marks]

20
20

[2006]
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Here is a sketch of a triangle.

It is not drawn to scale.

55°

8.3cm

6cm

6cm

Draw the full-size triangle accurately below.

Use a protractor (angle measurer) and a ruler.

One line has been drawn for you.

  

6cm

  

22

M01129 sketchy SSM SSM2c1 SSM4c3 L5

22i

22ii

2 marks
 

M01129_2_resizetriangle  –  20 November 2013 10:01 AM – Version 1

[2 marks]

21
21

[2014]



 22

Here is a sketch of a quadrilateral.

It is not drawn to scale.

6cm

8cm

75°

9.2cm

Draw the full-size quadrilateral accurately below.

Use a protractor (angle measurer) and a ruler.

Two of the lines have been drawn for you.

 

6cm

8cm

  

24i

24ii

2 marks

24

[2 marks]

22
22

[2011]



10

Here is a centimetre grid.

Draw two more lines to make a quadrilateral with an 
area of 18cm2

Use a ruler.

8

1 mark

8

[1 mark]

23
23

[2002]


